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Progressive Aspect:
In English we say things like "What are you doing now?" and "I am eating lunch." This ASPECT is actually
independent from the tense of the sentence. This is obvious when you consider we also say "What were you doing
yesterday?" or "What will you be doing tomorrow?" Chinese does not use tense, but still has a progressive aspect.

This progressive aspect, used to mark an ongoing action, is expressed by using one of the following options all
having the same meaning:

/ﬁ_ + Predicate + D}E
/ﬁ'_ + Predicate
Predicate + D}E
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When using the progressive aspect to indicate two simultaneous activities: When you called, | was just in the

shower, we use the progressive construct with BJBF%. The addition of IE in the progressive aspect phrase
emphasizes the immediacy of the actions: right in the middle of doing something.

Subject1 + Action1 + BYB%fZ + Subject2 + JEff + Action2 + of

IRE RITBEB051Z + WM ZRIRT, -
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Verb Complement:
The verb complement indicates the manner, or degree to which an action is carried out: walk slowly, eat quickly, and
the like. English speakers add an adverb after the verb, while in Chinese the complement of degree is expressed by

adding f—gr and an adjectival predicate, usually an adverb and adjective.

Verb + Ej’ + Adverb + Adjective
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When a transitive verb is followed by an object the verb is repeated with the complement structure replacing the
object after the second occurrence. The structure is a bit more complicated, but the language is useful.

Verb + Object + Verb + 'f?y + Adverb + Adjective
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Auxiliary Verbs:
Auxiliary, or optative verbs indicate the ability, possibility, intention, or wish of carrying out an action. As in English,
auxiliary verbs in Chinese precede the main verb. Think: can walk, will go, may enter, should study.

will likely VERB = re
know how to VERB ‘%\ 7l<§
able to VERB | BE/TJ A NEE
ought to VERB | 2 /[E3% NH
want to VERB BB /N8
allowed to VERB J PA 7|< J PA
should not VERB NBINEZ

(%) + Auxiliary Verb + Verb + (Object)

A5 Koj LT 7 1B B AR T B4R -
BRERABCBZ AT CEAT -
PREEAAEBHE B A S ABYNER ?
APTK R AP EARE 2R L
BREHDIAERA—RAETRE?
PR X T X R ARAA -
BEANTTALBEAD T, -
B E AP EZRE -
The Perfective Aspect

The perfective aspect is used to express a completed action. In English we use “have + VERB-ed” to
grammatically form this aspect. The perfective is used in past, present and future tenses.

Past: We had already eaten (when they arrived).
Present: We have already eaten.
Future: We will have eaten (by 8PM this evening).

Chinese does not have tenses, but does have the perfective aspect. In Chinese perfective aspect in its
simplest form is marked by adding 7T after the verb. If there is an object the T particle is inserted
between the verb and object. However, the object must contain either a quantification, or qualification--
reference a specific object. We will talk about that later.

The previous English statements would be rendered in Chinese as, “F¢ffillZz T8k - " Past, present and future
ideas would be indicated by adding time words to the sentence.

SUBJECT + VERB + J + OBJECT

Past: APPPEXR>Z 3 B8R

Yesterday we had eaten breakfast. (You don’t normally eat breakfast.)
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Present: #1977 3 48R °

We have eaten breakfast. (Now what?)

Future:  FMBAK F L A\EBEE § FRAN L AL ARITE 3

At eight this morning after we have eaten breakfast please give me a call.

The negative of the VERB + T structure is ;2(5) + VERB + (OBJECT). There is no qualifier for the object in
a negative statement, or in a question.

Basic Structure
The following table lists the grammar patterns in perfective statements and questions:

Positive SUBJECT + VERB + T + (*OBJECT) has happened
*OBJECT, + VERB+ T has happened
Negative SUBJECT + 2(%) + VERB + (OBJECT) not happened
*OBJECT, + 2(B) + VERB not happened
SUBJECT + #&1%(%) + VERB not happened yet
SUBJECT + #&32(%) + VERB + OBEJCT + I not happened yet
*OBJECT, + &/2(A) + VERB + I not happened yet
Interrogative SUBJECT + VERB + T + (OBJECT) + 15 ?

*OBJECT, + VERB+ 7 + I ?

SUBJECT + VERB + T + (OBJECT) + 2B ?

*OBJECT, + VERB+ 7 + RB?

SUBJECT + VERB + ;2 + VERB + (OBJECT) ?

*OBJECT, + VERB + 8 + VERB?

*Objects in these perfective statements must be a nominal (noun) phrase containing a proper noun (#[E])
or any noun preceded by a numeral-measure (W5&Z), demonstrative-measure (BR3RE), an attribute (RE)
=, ffIr9R), or a relative clause (ERTENZR).

When Not to Use

A completed action is often a past action, but if the perfective is not stressed the VERB + T pattern should
not be used. There are certain specific situations where the perfective is not appropriate.

Habitual Action: bW B % &R )& o
He often smoked in the past.

Continuous State: fth X FHIL T KEBH R T EHLE -

He was studying Chinese literature last year at Beijing University.
Status Description: fth W | 72 ¥ B KAF o

page 3 of 5



2016 F KK P L2013

B 222 R A £ 23-308%

&, i, A, etc. He used to be the Chinese ambassador.

Descriptive Statement: {tﬁﬁ%{éqﬂi’}f’%'% f?rfg$%//ff<7ﬁ %\% o
When he was young he thought this book was very interesting.

Degree Complement:

11 58 12 B REAZ 5 i 15 Bk o

When he was at the seaside he swam really fast.

Reported Speech: fhBFKZAMEL R L Z# ©

i, 8, 55, etc.  Yesterday he said he would wait for me in the cafeteria.

Imminent Aspect:

We learned that T can be used to express a new situation or a change of state. If this change is going to take place
relatively soon, we express this imminence with Z. The degree of imminence can be enhanced by adding . The
urgency can be mitigated by using 2.

HPVRTEER S ©
TR F Y I -
RN —R|FROHE 3 -
B F i AT REBE 3 -
HPPPR R EE S -

soon R (E) + [ VERB + OBJECT]+ J c;irt'ﬂct)it;:_e
sooner 2. [ VERB + OBJECT ] + i
Can use
o with time.
soonest [ B (Z) + [ VERB + OBJECT ] + Y

The negative of the new situation T statement uses }8F or &% A. Imminent aspect questions usually take the I

form.

T I IR K
A o BREAA R -

HPTRE TR 3G ?

B - RETNE -

MBI T RREGLER T ©
B o WRAIBE ZFR o

page 4 of 5



POTLFIR T L2015 LEETEES FERLE

£

cwom Bt B B B AR BE R L FTH K
15 RAE - K& 2B :m IA 7 ZhR . BA

T8 AKX oo I8 IR &% M2 A

b ZR 2R KB HBER EHES KB F
sl @ % ' RE 1

w150 BR 0 12 AR P B B 81 B
fi0 otk BAE N8 BUR - ANEE S A8 KRR —E
5o B - B RN

cmom MR LB R K G g éﬁ%/ BE + M0k /
& / S%If%fﬁi NA /KL ;,@,DM,
RNV B AREEREFRN FX

cmm TS 0 KAFRE - KAE BI5GB/, €/ %%
fﬁ%/%ﬂw R BB A% Ry B L
16 P KK L KA Bl

- B8 ri% / i?f& & DEK R 2T ’W& K 7 am o Bal
o BwPL Tt o AN TR BE TR B
RKE B AR RK FE

wmoom: Rt T R W5 mR 0 BE o ME RE
B PR &Y B0 BB 358 LR B

\\I

Sl_
P
~N
SO
>3\

B s s T BB BRF S B R KK —IS P
- B0 R /Lfv%/%ﬁ/@i/?@,ﬁ,%/@,
BB BY

page 5 of 5



